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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 108 7.5 0.8 8 93.6 100
2 107 4.8 1.4 6 79.9 99.1
3 107 4.5 2.2 8 56.4 99.1
4 108 4.9 1.8 8 60.6 100
5 108 11 4.2 20 54.8 100
6 108 12 4.3 22 54.6 100
7 108 11.1 3.7 18 61.6 100
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Line
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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3.	

You will have studied one sustainable tourism project from outside of the UK.

	 (c)	 Explain what the project is trying to achieve.	 [4]

Name of sustainable tourism project:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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A3a: 1

A3b: 2

A3c: 1

Sticky Note
This seems to be another case of a candidate not having studied a sustainable tourism project - see page 17 in the specification.





A3a: 1

A3b: 0

A3c: 0

Sticky Note
The candidate does not understand sustainable tourism. Candidates need to have a detailed knowledge of two case studies of sustainable tourism projects - see specification page 17.





A3a: 2

A3b: 2

A3c: 3

Sticky Note
The candidate shows good knowledge and understanding about the sustainable tourism project - Level 2.
The explanation is not sufficiently precise / clear to gain 4 marks.



10

(4764-01)

Examiner
only

	 The availability of leisure facilities varies from area to area.

	 (d)	 For one area you have studied, evaluate the availability of leisure facilities provided for 
different types of people.	 [8] 

Name of area:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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5.





B5d: 2

Sticky Note
The candidate has not named an area as such. As a result the answer is basic - Level 1. 
Upper Level 2 / 3 answers often demonstrated good knowledge of a local area. This is probably the easiest way to approach this type of question as candidates can use their local knowledge.





B5d: 4

Sticky Note
As advised at CPD events candidates should study the leisure facilities of an area. This could be covered by the case studies or by studying a local area. 
Although the answer has provided two examples there is little assessment.





B5d: 4

Sticky Note
The candidate has provided a detailed answer. However, to achieve upper Level 2 / 3 the answer needed more facilities, a better link to people types and clearer evaluation.
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	 UK destinations appeal to different types of tourists.

	 (b)	 For one UK tourism destination you have studied, describe the range of attractions and 
facilities which appeal to different types of tourists.	 [8]

Named UK tourism destination:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

6.





B6b: 3

Sticky Note
This is a basic answer - Level 1. The candidate has insufficient knowledge of the destination studied. 
Candidates should be able to name attractions and facilities - linking them to different tourist types. 





B6b: 2

Sticky Note
The attractions have been listed and the answer is basic - Level 1.

This candidate has lost a good number of marks throughout the exam as a result of poor case study knowledge.





B6b: 6


	WJEC 2014 Online Exam Review
	GCSE Leisure and Tourism Unit 4 4764-01
	Item Level Data
	Facility factor graph
	Question 3c
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 5d
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 6b
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked








© WJEC CBAC Ltd. 


12 


Question Answer Mark Allocation 
Assessment 


Objective 


3. (c) The candidates' explanations will depend on the 
project chosen. 


Levels marked 


Level 1 - explanations are likely to be basic and 
include only one example of what the project is trying 
to achieve.  Little knowledge and understanding.  List-
type answer. 


Level 2 - explanations are likely to be detailed and 
include at least two examples of what the project is 
trying to achieve.  Some knowledge and 
understanding. 


0 - 4 


1 - 2 


3 - 4 


A01 - 4 
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Question Answer 
Mark 


Allocation 
Assessment 


Objective 


5. (d) Possible answers: 
Families - crèch. 
Under 15s football. 
Over 50s club. 
Cardiac club. 
Pilates for over 50s. 
Women only sessions. 


Levels marked 


Level 1 - evaluations are likely to be basic and 
descriptive and include only one or two facilities 
and people types.  Generic / list type answer. 


Level 2 - evaluations are likely to be detailed and 
include two or three facilities and people types. 


Level 3 - evaluations are likely to well developed 
and include three or four facilities and people types. 


0 - 8 


1 - 3 


4 - 6 


7 - 8 


A01 - 3 
A03 - 5 








© WJEC CBAC Ltd. 


14 


Question Answer 
Mark 


Allocation 
Assessment 


Objective 


6. (b) The leisure and tourism attractions and 
facilities will depend on the chosen 
destination. 


Levels marked 


Level  1 - descriptions are likely to be basic and 
include only one or two leisure and tourism 
attractions and facilities.  Little or no reference to 
different tourist types.  Generic / list type answer. 


Level 2 -  descriptions are likely to be detailed 
and include at least two or three leisure and 
tourism attractions and facilities.  Some reference 
to different tourist types. 


Level 3 - descriptions are likely to be well 
developed and include at least three or four 
leisure and tourism attractions and facilities. 
Clear reference to tourist types. 


0 - 8 


4 - 6 


7 - 8 


A02 - 3 
A02 - 5 
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